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lntercepts ore the locotions
either the x-oxis or y-oxis.

(points) where the groph crosses (or touches)

lncreosing: o function is increosing, the groph hos o positive slope.

Decreqsing: A function is decreosing
the groph hos o negotive slope.

Exomple:
The function is increosing on the
x-intervols lB,-4) ond (1. 3).

The function is decreosing on the
x-intervol (3,7).

The function is constont on the
x-intervol (-4, l).

(.

t?

X
Ronge: I t y-vrz. €,s.s*-g -3 =

Axis of symmetry: o line through o shope
so thot eoch side is o mirror imoge.

The moximum of o function is hlf

m0Y:lttim oca|lis gi t " -2

0t lho $o::mun vdlus c{ fi6 6

Nome:

r?;4 5

Ti.€ il'iiniiium ocruit ii v ' -'i
0r ]hs minimum i,alue cl lis -3

The minimum of o function is -/r'rf

Dote: MorchB-A Glue on poge 70
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